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Term 4 — Rational Expressions/Equations REVIEW
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Simplify each expression. State all restrictions,
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Find the productor quotient, State all restrictions.
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Add or Subtract the Rational Expressions.
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Solve the Rational Equations. Check your Solutions!
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21, Anabel and Louis have volunteered to contact every member of their organization by phone to inform them of
an upcoming event. Louis can complete the calls in six days if she works alone. Anabel can compiete them in four

days. How long will they take to complete the caHs working together? Y N ind
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23. Rate equals " . If Jared is bicycling at a constant rate of 18 mi/h, how many hours.does it take to go 43
ime .

mi? to go 90 mi? Is this a direct variation or an inverse variation? How do you know? . Gey o f
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Do the data
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Write an equation to model the data in each table.
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